THIS EDGE TOWARDS —— RACKING COMPONENTS
—— 250 =~ /ROOF RIDGE l‘/_NOTINCLUDED

[}

12.00
1.50 H © f
* 3.00
¢ ! NO DESCRIPTION QTY.
6.00 1 FLASHING, 12" X 12" X .050", 5052, MILL 1
- 12.00 — 2 QBLOCK, CLASSIC, A360.1 CAST AL, MILL ]
3 HANGER BOLT, PLAIN CENTER, 5/16" x 6", 18-8 SS 1
F::E:::‘
. ] : 4 WASHER, SEALING, 5/16"ID X 3/4" OD, EPDM BONDED SS 1
| = |
O 5 NUT, HEX, 5/16-18, UNC-2B, 18-8 SS 2
-
E= = 6 WASHER, FLAT, 19/64"ID x 7/8" OD x 1/8" EPDM 1
l k 1.30 7 WASHER, FENDER, 5/16"ID X 1" OD, 18-8 SS 1
’ 8 WASHER, SPLIT-LOCK, 5/16"ID, 18-8 SS 1
200 Quick Mount PY*
TITLE:
QMSC: CLASSIC COMPOSITION
MOUNT
AVAILABLE IN MILL, CLEAR ANODIZED,
AND BRONZE ANODIZED FINISHES. UNLESS OTHERWISE SPECIFIED: ' §|7E DRAWN BY:  RAD REV
DIMENSIONS ARE IN INCHES
Fo e 18 A oA 77232013 6
i%@gi%éﬁgﬁég’g i@@%ﬁ\é&“&%w OF QUICK MOUNT Py 5 PROHIBED, 1Y+ ANYREPRODUCTION IN PART OR A3 DO NOTSCALE DRAWING | e AL +195 | SCALE: 14 | WEIGHT:1.24 SHEET 1 OF 1

5 4 3 2 1



	Sheet1
	Drawing View5
	Drawing View6
	Drawing View7


